

Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia **Centralized Request for Quote** Miscellaneous

Proc Folder:
Doc Description

1200905

Reason for Modification:

1: ADDENDUM NO_1 _High-Density Polyethylene (HDPE) Corr Pipe

ADDENDUM NO_1 Attach Revised Specs

Proc Type:

Central Purchase Order

Date Issued **Solicitation Closes Solicitation No** Version 2023-04-11 2 2023-04-06 13:30 CRFQ 0803 DOT2300000116

DID	RECEI\	/INC I	OCA	TION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

V	Ε	N	D	0	R

Vendor Customer Code:

Vendor Name:

Address:

Street:

City:

State:

Country:

Zip:

Principal Contact:

Vendor Contact Phone:

Extension:

FOR INFORMATION CONTACT THE BUYER

John W Estep 304-558-2566

john.w.estep@wv.gov

Vendor

Signature X

FEIN#

62-125-7196 DATE 4-6-23

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Apr 6, 2023 Page: 1 FORM ID: WV-PRC-CRFQ-002 2020/05

ADDITIONAL INFORMATION

ADDENDUM NO_1

Addendum No_1 issued to publish and distribute the attached information to the Vendor Community.

REQUEST FOR QUOTATION:

The West Virginia Purchasing Division is soliciting bids on behalf of West Virginia Division of Highways - District 6 to establish a contract for the one time purchase of Corrugated High-Density Polyethylene (HDPE) Pipe for core maintenance activities. Per the Bid Requirements, Specifications, Terms and Conditions attached to this solicitation.

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE W	V	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	High-Density Polyethylene (HDPE) Corrugated	720.00000	LF	४.५१	6112.80
	Pipe 15"			• ((

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH-Hancock County 1936 Veterans BLVD New Cumberland, WV 2604

Date Printed: Apr 6, 2023

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	YS	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	High-Density Polyethylene (HDPE) Corrugated	760.00000	LF	12 111	9986,40
	Pipe 18"			15.19	7700,10

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH-Hancock County 1936 Veterans BLVD New Cumberland, WV 2604

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	<i>t</i>
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	High-Density Polyethylene (HDPE) Corrugated Pipe 24"	460.00000	LF	20.65	9499.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH-Hancock County 1936 Veterans BLVD New Cumberland, WV 2604

INVOICE TO		SHIP TO	SHIP TO		
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS			
DISTRICT SIX		1 DOT DR			
1 DOT DR					
MOUNDSVILLE	WV	MOUNDSVILLE W	V		
US		US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	High-Density Polyethylene (HDPE) Corrugated	200.00000	LF	40,24	8048.00
	Pipe 36"			(0,0)	00 (0.55

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH-Hancock County 1936 Veterans BLVD New Cumberland, WV 2604

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE WV		
us		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	High-Density Polyethylene (HDPE) Corrugated Pipe 15"	200.00000	LF	10.50	2100-00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Brooke County 2935 Commerce St Wellsburg, WV 26070

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	High-Density Polyethylene (HDPE) Corrugated Pipe 18"	200.00000	LF	15.23	3046.20

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Brooke County 2935 Commerce St Wellsburg, WV 26070

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	′S	DIVISION OF HIGHWAY	S	
DISTRICT SIX 1 DOT DR		1 DOT DR		
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	High-Density Polyethylene (HDPE) Corrugated	200.00000	LF	12 14	2628.00
	Pipe 18"			13.11	2000

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Ohio County Heavy Maintenance 3870 National Rd Triadelphia, WV 26059

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS	
DISTRICT SIX 1 DOT DR		1 DOT DR	
MOUNDSVILLE	WV	MOUNDSVILLE WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
8	High-Density Polyethylene (HDPE) Corrugated	40.00000	LF	73.86	2954,40
	Pipe 48"			4	

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Ohio County Heavy Maintenance 3870 National Rd Triadelphia, WV 26059

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAY	\$
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
9	High-Density Polyethylene (HDPE) Corrugated	200.00000	LF	113.42	226
	Pipe 60"				22684.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Ohio County Heavy Maintenance 3870 National Rd Triadelphia, WV 26059

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	YS .	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE WV		
US		US		

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
	300.00000	LF	8.49	2547.00
	High-Density Polyethylene (HDPE) Corrugated	High-Density Polyethylene (HDPE) Corrugated 300.00000		High-Density Polyethylene (HDPE) Corrugated 300.00000 LF 8.49

Comm Code	Manufacturer	Specification	Model #
13102017			

Deliver To:

WVDOH Ohio County HQ 3870 National Rd Triadelphia, WV 26059

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
us		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
11	High-Density Polyethylene (HDPE) Corrugated Pipe 18"	300.00000	LF	13.14	3942.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Ohio County HQ 3870 National Rd Triadelphia, WV 26059

Date Printed: Apr 6, 2023

INVOICE TO		SHIP TO		
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
12	High-Density Polyethylene (HDPE) Corrugated Pipe 24"	300.00000	LF	20.65	6195.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Ohio County HQ 3870 National Rd Triadelphia, WV 26059

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
us		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
13	High-Density Polyethylene (HDPE) Corrugated Pipe 36"	200.00000	LF	५०.२५	12684-00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Ohio County HQ 3870 National Rd Triadelphia, WV 26059

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
14	High-Density Polyethylene (HDPE) Corrugated Pipe 15"	500.00000	LF	8.49	4245.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Marshall County 100 Wheeling Ave, Glendale, WV 26038

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
15	High-Density Polyethylene (HDPE) Corrugated Pipe 18"	3000.00000	LF	13.14	39420-00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Marshall County 100 Wheeling Ave, Glendale, WV 26038

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE W\	/	
us		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
16	High-Density Polyethylene (HDPE) Corrugated	200.00000	LF	40,24	2048.00
	Pipe 36"			10101	3 - 10

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Marshall County 100 Wheeling Ave, Glendale, WV 26038

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
17	High-Density Polyethylene (HDPE) Corrugated	300.00000	LF	2-49	2547-00
	Pipe 15"			3 ()	

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Wetzel County 641 N State Route 2, New Martinsville, WV 26155

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
18	High-Density Polyethylene (HDPE) Corrugated Pipe 18"	800.00000	LF	13-14	10512.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Wetzel County 641 N State Route 2, New Martinsville, WV 26155

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	′S	DIVISION OF HIGHWAY	S	
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
19	High-Density Polyethylene (HDPE) Corrugated Pipe 24"	840.00000	LF	20.65	17,346.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Wetzel County 641 N State Route 2, New Martinsville, WV 26155

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
20	High-Density Polyethylene (HDPE) Corrugated Pipe 36"	200.00000	LF	40.24	8048.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Wetzel County 641 N State Route 2, New Martinsville, WV 26155

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
21	High-Density Polyethylene (HDPE) Corrugated Pipe 48"	200.00000	LF	72.82	14 564-00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Wetzel County 641 N State Route 2, New Martinsville, WV 26155

Date Printed: Apr 6, 2023

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
us		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
22	High-Density Polyethylene (HDPE) Corrugated	200.00000	LF	113.42	22684 00
	Pipe 60"			110-10	2001

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Wetzel County 641 N State Route 2, New Martinsville, WV 26155

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	′S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
23	High-Density Polyethylene (HDPE) Corrugated	220.00000	LF	8.66	1905.20
	Pipe 15"			9.00	(100)

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Tyler County 2566 Tyler HWY Sistersville, WV 26175

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE WV	
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
24	High-Density Polyethylene (HDPE) Corrugated	220.00000	LF	13, 39	2945.80
	Pipe 18"			, - , - ,	

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Tyler County 2566 Tyler HWY Sistersville, WV 26175

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAY	′S	DIVISION OF HIGHWAYS	
DISTRICT SIX		1 DOT DR	
1 DOT DR			
MOUNDSVILLE	WV	MOUNDSVILLE	WV
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
25	High-Density Polyethylene (HDPE) Corrugated	100.00000	LF	21.16	2116.00
	Pipe 24"			01.0	

Comm Code	Manufacturer	Specification	Model #	
13102017				

Extended Description:

Deliver To:

WVDOH Tyler County 2566 Tyler HWY Sistersville, WV 26175

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	/S	DIVISION OF HIGHWAYS		
DISTRICT SIX		1 DOT DR		
1 DOT DR				
MOUNDSVILLE	WV	MOUNDSVILLE WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
26	High-Density Polyethylene (HDPE) Corrugated Pipe 36"	100.00000	LF	40:70	4070.00

Comm Code	Manufacturer	Specification	Model #	
13102017				

Deliver To:

WVDOH Tyler County 2566 Tyler HWY Sistersville, WV 26175

SCHEDULE OF EVENTS

<u>Line</u>	Event	Event Date	
1	Tech Questions due by 2:00pm	2023-04-07	

	Document Phase	Document Description	Page 16
DOT2300000116	Final	ADDENDUM NO_1 _High-Density Polyethylene (HDPE) Corr Pipe	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

EXHIBIT A- PRICING PAGE West Virginia Division of Highways High-Density Polyethylene(HDPE) Corrugated Pipe

Delivered to District Six 0615 Hancock Co. 1936 Veterans BLVD New Cumberland, WV 26047

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	15" High-Density Polyethylene (HDPE) Corrugated Pipe	720	Linear Feet	8.4900	6,112.8000
3.1.1	18" High-Density Polyethylene (HDPE) Corrugated Pipe	760	Linear Feet	13.1400	9,986.4000
3.1.1	24" High-Density Polyethylene (HDPE) Corrugated Pipe	460	Linear Feet	20.6500	9,499.0000
3.1.1	36" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	40.2400	8,048.0000
				TOTAL:	33,646.2000

0605 Delivered to WVDOH Brooke Co. 2935 Commerce St Wellsburg, WV 26070

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	15" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	10.5000	2,100.0000
3.1.1	18" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	15.2300	3,046.0000
				TOTAL:	5,146.0000

0667 Heavy Maint- Delivered to WVDOH Ohio Co. 3870 National Rd Triadephia, WV 26059 (same address as Ohio Co)

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	18" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	13.1400	2,628.0000
3.1.1	48" High-Density Polyethylene (HDPE) Corrugated Pipe	40	Linear Feet	73.8600	2,954.4000
3.1.1	60" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	113.4200	22,684.0000
				TOTAL:	28,266.4000

0635 Ohio Co HQ- Delivered to WVDOH Ohio Co. 3870 National Rd Triadelphia, WV 26059 (same address as Heavy Maint)

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	15" High-Density Polyethylene (HDPE) Corrugated Pipe	300	Linear Feet	8.4900	2,547.0000
3.1.1	18" High-Density Polyethylene (HDPE) Corrugated Pipe	300	Linear Feet	13.1400	3,942.0000
3.1.1	24" High-Density Polyethylene (HDPE) Corrugated Pipe	300	Linear Feet	20.6500	6,195.0000
3.1.1	36" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	40.2400	12,684.0000

0626 Delivered to WVDOH Marshall Co. 100 Wheeling Ave, Glendale, WV 26038

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	15" High-Density Polyethylene (HDPE) Corrugated Pipe	500	Linear Feet	8.4900	4,245.0000
3.1.1	18"High-Density Polyethylene (HDPE) Corrugated Pipe	3,000	Linear Feet	13.1400	39,420.0000
3.1.1	36" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	40.2400	8,048.0000
				TOTAL:	51,713.0000

0652 Delivered to WVDOH Wetzel Co. 641 N State Route 2, New Martinsville, WV 26155

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	15" High-Density Polyethylene (HDPE) Corrugated Pipe	300	Linear Feet	8.4900	2,547.0000
3.1.1	18" High-Density Polyethylene (HDPE) Corrugated Pipe	800	Linear Feet	13.1400	10,512.0000
3.1.1	24" High-Density Polyethylene (HDPE) Corrugated Pipe	840	Linear Feet	20.6500	17,346.0000
3.1.1	36" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	40.2400	8,048.0000
3.1.1	48" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	72.8200	14,564.0000
3.1.1	60" High-Density Polyethylene (HDPE) Corrugated Pipe	200	Linear Feet	113.4200	22,684.0000
				TOTAL:	75,701.0000

0648 Delivered to WVDOH Tyler Co. 2566 Tyler HWY Sistersville, WV 26175

	Description	Quantity	Unit	Unit Price	Extended Cost
3.1.1	15" High-Density Polyethylene (HDPE) Corrugated Pipe	220	Linear Feet	8.6600	1,905.2000
3.1.1	18" High-Density Polyethylene (HDPE) Corrugated Pipe	220	Linear Feet	13.3900	2,945.8000
3.1.1	24" High-Density Polyethylene (HDPE) Corrugated Pipe	100	Linear Feet	21.1600	2,116.0000
3.1.1	36" High-Density Polyethylene (HDPE) Corrugated Pipe	100	Linear Feet	40.7000	4,070,0000
				TOTAL:	11,037,0000

Grand Total 218,193.6000

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

(Printed Name and Title	BOSBY	Mudiad	Sales				
(Address) 9374				9			
(Phone Number) / (Fax	Number)	1-755-8241	1 304-755-826	80			
(Email address)	BYBALLOWNO	Fostersuppl.	1.6m				
CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that: I have reviewed this Solicitation/Contract in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation/Contract for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that this bid or offer was made without prior understanding, agreement, or connection with any entity submitting a bid or offer for the same material, supplies, equipment or services; that this bid or offer is in all respects fair and without collusion or fraud; that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; that I am authorized by the Vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on Vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.							
By signing below, I further certify that I understand this Contract is subject to the provisions of West Virginia Code § 5A-3-62, which automatically voids certain contract clauses that violate State law; and that pursuant to W. Va. Code 5A-3-63, the entity entering into this contract is prohibited from engaging in a boycott against Israel.							
FOSTER SUPPLY							
(Company)							
(Signature of Authorized Representative) bosby baww sakes 4-6-23							
(Printed Name and Title of Auth	orized Represent						
(Phone Number) (Fax Number)							
BOBBY BALBWING F	osi Er Supply	· lon					
(Email Address)	<u> 1501 . A</u>						

SOLICITATION NUMBER: CRFQ DOT2300000116

Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as CRFQ DOT23000000116 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum Category:						
[]	Modify bid opening date and time					
[X]	Modify specifications of product or service being sought					
[]	Attachment of vendor questions and responses					
[]	Attachment of pre-bid sign-in sheet					
[]	Correction of error					
[]	Other					
Additional Documentation:						

Terms and Conditions:

Attach Revised Specs

Bid Opening remains 04/11/2023 at 1:30pm

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

SPECIFICATIONS

- PURPOSE AND SCOPE: The West Virginia Purchasing Division is soliciting bids on behalf of West Virginia Division of Highways – District 6 to establish a contract for the one time purchase of Corrugated High-Density Polyethylene (HDPE) Pipe for core maintenance activities.
- 2. **DEFINITIONS:** The terms listed below shall have the meanings assigned to them below. Additional definitions can be found in section 2 of the General Terms and Conditions.
 - 2.1 "Contract Item" means High Density Polyethylene (HDPE) Corrugated Pipe as more fully described by these specifications.
 - 2.2 "Pricing Page" The schedule of prices attached hereto as Attachment A (ATT A) which will be used to evaluate the Solicitation responses.
 - **2.3** "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.
 - **2.4** "HDPE" High-Density Polyethylene Pipe.
 - 2.5 "ASTM" The American Society for Testing and Materials. Reference: www.astm.org.
 - **2.6** "AASHTO" The American Association of State Highway and Transportation Officials. Reference: www.transportation.org.
 - 2.7 "Standard Specs" The West Virginia Department of Transportation, Division of Highways Standard Specifications, Roads and Bridges, adopted latest edition, and as amended or modified by all subsequent Supplemental Specifications.
 - 2.8 "FOB" Freight on Board destination to the Agency's location.

3. GENERAL REQUIREMENTS:

3.1 Mandatory Contract Item Requirements: Contract Item must meet or exceed the mandatory requirements listed below. The following Standard Specs Sections shall apply to the administration of this contract: 101, 102, 103, 104, 105, 106, 107, 108, 109, and 110, as amended.

Materials, equipment, and performance of this contract shall conform, but is not limited to, the requirements of Sections 604, 606, and 714, as amended.

A hard copy of the current Standard Specs may be purchased at a cost of \$20.00 (\$15.00 for the 2017 book plus \$5.00 for the Supplemental Latest Edition) using the **Attachment B (ATT B)** Standard Specifications Order Form. The completed form should be submitted by email to <u>DOTSpecifications@wv.gov</u> or mailed to:

West Virginia Division of Highways Contract Administration Building 5, Room 840 1900 Kanawha Boulevard, East Charleston, West Virginia 25305

A free electronic copy of the Standard Specs may be obtained by sourcing: https://transportation.wv.gov/highways/technicalsupport/specifications/Pages/default.aspx

3.1.1 Corrugated Polyethylene (HDPE) Pipe, Profile Wall – in 20-foot length joints. Corrugated HDPE Pipe shall conform to the requirements of Standard Specs Sections 604 and 714, as amended, and AASHTO M294.

Flexible pipes shall be joined by bell and spigot joints, and the pipe shall be installed to preserve the alignment, provide a leak resistant joint that conforms to ASTM D3212 performance requirements, and prevent the separation of sections. These shall have the ability to be soil tight.

Dual wall pipe and fittings shall meet the requirements of ASTM 2881M or AASHTO M294. Vendors bidding must source approved suppliers/fabricators from MCS&T, MP 718.007.001 Corrugated Polyethylene Plastic Pipe, as amended. Reference: https://transportation.wv.gov/highways/mcst/Pages/APL_By_Number.aspx

4. CONTRACT AWARD:

4.1 Contract Award: The Contract is intended to provide Agencies with a purchase price for the Contract Items. The Contract shall be awarded to the Vendor that provides the Contract Items meeting the required specifications for the lowest overall total cost as shown on the Pricing Pages.

4.2 Pricing Page: Vendor should complete the Pricing Page by completing Attachment A (ATT A). This shall be done by giving the purchase price per each unit in the Unite Price Box, multiply the Unit Price by the quantity and enter the amount in the Total Cost of item, then total all Total Costs to produce the Grand Total box. The pricing page has been formatted for the convenience to calculate automatically when the Unit Price is entered. Each tab will need to be separately as the cost of the delivery to that specified location will be part of the unit price. The Vendor is responsible for ensuring the calculations for the bid is correct. Vendor should complete the Pricing Page in full as failure to complete the Pricing Page in its entirety may result in Vendor's bid being disqualified.

Vendor should type or electronically enter the information into the Pricing Page to prevent errors in the evaluation.

5. PAYMENT:

5.1 Payment: Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia.

6. DELIVERY AND RETURN:

- 6.1 Shipment and Delivery: Vendor shall ship the Contract Items immediately after being awarded this Contract and receiving a purchase order or notice to proceed. Vendor shall deliver the Contract Items within 30 working days after receiving a purchase order or notice to proceed. Contract Items must be delivered to Agency at locations provided in the pricing page Attachment A (ATT A). Each tab has the address for the quantity needed at that location.
- 6.2 Late Delivery: The Agency placing the order under this Contract must be notified in writing if the shipment of the Contract Items will be delayed for any reason. Any delay in delivery that could cause harm to an Agency will be grounds for cancellation of the Contract, and/or obtaining the Contract Items from a third party.
 - Any Agency seeking to obtain the Contract Items from a third party under this provision must first obtain approval of the Purchasing Division.
- 6.3 Delivery Payment/Risk of Loss: Vendor shall deliver the Contract Items F.O.B. destination to the Agency's location.
- 6.4 Return of Unacceptable Items: If the Agency deems the Contract Items to be unacceptable, the Contract Items shall be returned to Vendor at Vendor's expense

and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable, or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.

6.5 Return Due to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a restocking fee if returned products are in a resalable condition. Items shall be deemed to be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

7. VENDOR DEFAULT:

- 7.1 The following shall be considered a vendor default under this Contract.
 - 7.1.1 Failure to provide Contract Items in accordance with the requirements contained herein.
 - 7.1.2 Failure to comply with other specifications and requirements contained herein.
 - 7.1.3 Failure to comply with any laws, rules, and ordinances applicable to the Contract Services provided under this Contract.
 - 7.1.4 Failure to remedy deficient performance upon request.
- 7.2 The following remedies shall be available to Agency upon default.
 - 7.2.1 Immediate cancellation of the Contract.
 - 7.2.2 Immediate cancellation of one or more release orders issued under this Contract.
 - 7.2.3 Any other remedies available in law or equity.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CRFQ DOT2300000116

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)							
[X]	Addendum No. 1	[]	Addendum No. 6			
[]	Addendum No. 2	[]	Addendum No. 7			
[]	Addendum No. 3	[]	Addendum No. 8			
[]	Addendum No. 4	[]	Addendum No. 9			
[]	Addendum No. 5	[]	Addendum No. 10			
I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding. To state Supply Company							

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Authorized Signature